10
10.1.

10.1.1.
D
@

&)

®

4

2)
€y
a)

b)

10.1.1-1
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10.1.1-1

53 38
JIS B 7953
48 25
JIS B 7952
48 25
JIS B 7954
52
JIS B 7956
2005
24
@
a)
b)
10.1.1-2
10.1.1-2
14
10m
14
1.5m
©)
@
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)
@
10.1.1-3 10.1.1-1

10.1.1-3

2262

10.1.1-1

@
10.1.1-4 10.1.1-2

10.1.1-4
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=ik

10.1.1-2

0

100 200 500 1000m
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4

€y
18 22
22
12 21 10
&)
10.1.1-5
24
10.1.1-5
21 23 21 29 24
21 10 23 21 10 29 24
22 22 24
22 15 22 21 24
21 28 13 21 29 13
21 10 20 13 21 10 21 13
22 13 22 13
22 19 13 22 20 13
21 21 15 21 20 15
21 10 14 15 21 11 13 16
22 11 13 22 13
22 23 13 22 21 13
21 23 21 29 24
21 10 23 21 10 29 24
22 22 24
22 15 22 21 24

30
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5)

@
a)
@)
22 10.1.1-6
98 0.027ppm
10.1.1-6 22
08 )
0.014 0.027 0-04ppm — 0.06ppm o
1 53 38
2 o >
18 22 10.1.1-7
10.1.1-7 18 22
ppm
18 19 20 21 22
0.017 0.016 0.015 0.014 0.014
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(b)

22 10.1.1-8
0.007ppm 0.002ppm
10.1.1-8 22
0.04ppm 2
1
Gomy | e |
0.04ppm
0.001 0.007 0.002 o o
0.1ppm
1 48 25
2 o >
18 22 10.1.1-9
10.1.1-9 18 22
ppm
18 19 20 21 22
0.001 0.001 0.001 0.001 0.001
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©

22 10.1.1-10
0.166mg/m? 0.064mg/m?
10.1.1-10 22
2
s 1
3 3 0.10mg/m
@o/r) | /) | s
0.10mg/m?
0.030 0.166 0.064 1 o o
0.20mg/m?
1 48 25
2 o <
18 22
10.1.1-11
10.1.1-11 18 22
mg/m®
18 19 20 21 22
0.035 0.034 0.033 0.033 0.030
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(D

22 10.1.1-12
0.69pmC
10.1.1-12 22
1
0.31ppmC
(ppmC) p10) PRI 2
(ppmC)
0.20 0.23 0.69 16 15.7 0.20ppnC >
0.31ppmC
1 51
2 o >
18 22
10.1.1-13
10.1.1-13 18 22
ppmC
18 19 20 21 22
0.22 0.27 0.23 0.19 0.20
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b)

@)
10.1.1-14(1) (2
10.1.1-15
0.013 0.029ppm
0.009 0.016ppm 0.026
0.051ppm
0.014 0.029ppm
0.009 0.016ppm
0.026 0.049ppm
0.945
10.1.1-14(1)
ppm
0.009 0.013 o 0.026
0.015 0.024 o 0.046
0.016 0.029 o 0.051
0.011 0.018 o 0.031 0.04ppn
0.013 0.029 o 0.051 0.06ppm
0.009 0.014 o 0.027
0.015 0.024 o 0.042
0.016 0.029 o 0.043
0.011 0.019 o 0.030
0.013 0.029 o 0.043
(@] >
10.1.1-14(2)
ppm
0.009 0.014 o 0.026
0.016 0.026 o 0.049 0.04ppm
0.016 0.029 o 0.049 0-06ppm
0.012 0.019 o 0.030
0.013 0.029 o 0.049
(@] >
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10.1.1-15

660
12

0.945

Y=0.9607X+0.0001

(b)

10.1.1-17

0.011 0.014ppm

0.009 0.016ppm

10.1.1-16(1) (2)

0.003 0.005ppm

0.005 0.007ppm

0.005 0.007ppm

0.003ppm
0.536
10.1.1-16(1)
ppm
0.005 0.007 o 0.014
0.003 0.005 o 0.012
0.003 0.006 o 0.013
0.003 0.005 o 0.011 0.04ppn
0.004 0.007 o 0.014
0.001 0.001 0.002
0.001 0.001 o 0.004 0-1ppm
0.001 0.002 o 0.004
0.001 0.002 o 0.004
0.001 0.002 o 0.004
(@] >
10.1.1-16(2)
ppm
0.003 0.005 o 0.009
0.003 0.005 o 0.012 0.04ppm
0.003 0.007 o 0.013
0.003 0.006 o 0.016 0.1ppm
0.003 0.007 o 0.016
(@] >

141




10.1.1-17

Y X
64527 0.536 Y=1.6905X+0.0027
©
10.1.1-18(1) (2)
10.1.1-19

0.052 0.096mg/m?

0.014 0.032mg/m?

0.059 0.107mg/m?

0.016 0.036mg/m?

0.025 0.057mg/m?

0.026 0.060mg/m?

0.677
10.1.1-18(1)
/m
0.018 0.025 o 0.052
0.032 0.057 o 0.096
0.014 0.031 o 0.056
0.019 0.034 o 0.069
0.021 0.057 o 0.096 0.10mg/m’
0.024 0.029 o 0.066
0.036 0.055 o 0.087 0-20mg/m
0.025 0.043 o 0.078
0.030 0.046 o 0.086
0.029 0.055 o 0.087
(@] >
10.1.1-18(2)
/m?
0.016 0.026 o 0.042
0.036 0.060 o 0.107
0.018 0.033 o 0.059 0-10mg/m*
0.024 0.040 o 0.076 0.20mg/m®
0.024 0.060 o 0.107
(@] >
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10.1.1-19

Y X
66210 0.677 Y=0.7731X-0.0015
(d)
10.1.1-20(1) (2
10.1.1-21
0.21 0.56ppmC
0.12 0.23ppmC 0.12 0.26ppmC
0.39 0.72ppmC
0.21 0.31ppmC
0.24 0.37ppmC
0.858
10.1.1-20(1)
ppmC
1
2
0.13 0.12 0.21 o
0.23 0.26 0.47 >
0.20 0.26 0.56 >
0.12 0.15 0.31 o
0.17 0.20 0.56 >
0.14 0.13 0.20 o© 0.20ppmC 0.31ppmC
0.20 0.25 0.55
0.24 0.35 0.73 x
0.14 0.29 0.86 >
0.18 0.25 0.86 >
1 51
2 o >
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10.1.1-20(2)

ppmC
1
2
0.21 0.24 0.39 x>
0.30 0.33 0.57 X<
0.31 0.37 0.72 > 0.20ppnC  0.31ppnC
0.23 0.27 0.41 >
0.26 0.30 0.72 >
51
>
10.1.1-21
X
63240 0.858 Y=0.6449X+0.0502
O]
10.1.1-22
0.0009 0.0012mg/m?
0.0005 0.0012mg/m? 0.0007mg/m?
0.0017 0.0024mg/m?
0.0009 0.0014mg/m?
0.0005 0.0014mg/m? 0.0007mg/m?
0.0014 0.0026mg/m?
10.1.1-22
mg/m?
0.0009 0.0008 0.0007 0.0017
0.0010 0.0010 0.0007 0.0024
0.0012 0.0012 0.0007 0.0023
0.0009 0.0005 0.0007 0.0018
0.0010 0.0009 0.0007 0.0021
0.0011 0.0007 0.0007 0.0014
0.0012 0.0012 0.0007 0.0026
0.0014 0.0014 0.0007 0.0025
0.0009 0.0005 0.0007 0.0018
0.0012 0.0010 0.0007 0.0021
0.003 0.2 0.2 0.15
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Q)

10.1.1-23
1.4 2.8t/km?/
2.1 2.9t/km?/
10.1.1-23
t/kn?/
2.8 1.4 1.8 2.2 2.1
2.4 2.1 2.3 2.9 2.4
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&)

a)
@
22 10.1.1-3
NW 10.9
2.1m/s Calm 0.4m/s 6.1
22
9m
6.1
22
10 12 21
F 10.1.1-24
10.1.1-24 22

H12 H21 H22 5.0 1.0 (n/s) H12 H21 H22 5.0 1.0

2000 2009 2010 2000 2009 2010
NNE 574 569 o o 0.4 345 530 o )
NE 472 427 o o 0.5 0.9 1,245 1,262 o o
ENE 446 398 o o 1.0 1.9 3,475 3,258 o o
E 536 449 > o 2.0 2.9 1,790 1,787 o o
ESE 797 743 o o 3.0 3.9 920 931 o o
SE 789 799 o ) 4.0 4.9 504 504 o o
SSE 474 448 o o 5.0 5.9 254 263 o o
S 406 418 o ) 6.0 6.9 115 131 o o
SSW 220 254 o o 7.0 105 73 o o
SwW 113 124 o o
wsw 103 104 o o
W 156 175 o o
WNW 525 533 o o
NW 875 952 o o
NNW 1,017 868 o o
N 904 948 o o
Calm 345 530 o o
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(b)

22
10.1.1-25
10.1.1-25 22
(MI/m? ) (MJ/m? ) () ()
1.253 0.300 14.9 68.0
b)
@)
10.1.1-26 10.1.1-4(1) (@)
20.8
19.6 21.4 11.3
24.4
20.8 21.4 10.7
3.1 3.9m/s 4.0
9.0m/s 8.5 17.9m/s Calm
0.4m/s 0.6 3.0
2.6 3.2m/s 3.1
7.6m/s 7.6 14.3m/s Calm
0.4m/s 0.6 4.2
10.1.1-26
m/s
16
20.8 3.5 4.9 8.5
19.6 3.4 6.4 12.2
21.4 3.9 9.0 17.9
11.3 3.1 4.0 .5
24.4 3.1 4.4 .6
20.8 2.6 5.0 11.8
21.4 3.2 7.6 14.3
10.7 2.6 3.1 9.2
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WNW ENE
w E
WSw ESE

L L= qiﬂﬂﬂi?ﬁl
(F183 : 0.6%)

(%) N

WNW NE
w
Wsw SE

23 3FEJZ22£E2FJ
(F#12% : 0.6%)

(%) N

NN NE
NW, NE
WNW ENE
w E
WsSWw ESE
SwW SE
SS SSE
S

MFE FHR21E10A
(F$1EE : 2.4%)

(%) N

NNW NE
NW NE
WNW ENE
w E
wsw ESE
SW SE
SsSw SSE

5F Tp2244R
(A58 : 3.0%)

10.1.1-4(1)
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ME Tr214£10R
(F72E : 3.0%)

5F FH2%1A
(A3 : 0.6%)

S

FF FTR22%4R
(F#1RE 1 4.2%)

s
KF FH22452A8
(B$18% 1 1.2%)

10.1.1-4(2)
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(b)

10.1.1-27
2.3 27.4
8.2 28.9 19.8 35.8 61
82 71 90 90 98
3.5 27.7
9.5 29.5 21.1 35.3 62
82 73 96 95 100
10.1.1-27
1 1
27.4 28.9 35.8 82 87 98
16.3 18.6 24.6 76 90 96
2.3 8.2 19.8 61 71 90
9.4 16.4 24.2 76 85 95
27.7 29.5 35.3 82 87 96
16.0 18.6 25.5 80 96 100
3.5 9.5 21.1 62 73 95
10.4 17.2 25.5 79 88 99
©)
)
a)
b)
350m 500m
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10.1.2.

1)
@
@
a)
10.1.2-1
\J
| | | |
.......................... ; ( ,
\J
| (NOx,, SPM) | | (NOx, SPM) |
="
| |
NOx
SPI NO,
NO,
\ 4
| |
s
( )
10.1.2-1
b)
12 12
1.0m/s

0.5m/s 0.9m/s
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@)
1.0m/s

_ 2
N
2n "Rou 20, 20,
8 z

0.5m/s 0.9m/s

Y

20, _He):
CR.2)= \F Q {gexp{_u(zzflﬁ} 1
2n E . ZY n- r]+
8

2

nf=RQ+9%(z—Hey
Y

2 OLZ 5
n. =R, +—(z+He)
Y

0.4m/s

CRo= — [Hﬂ}

2n 32]/ TTf n.
CR,2) (R,2) ppn
R
Q ml/s mg/s
u m/s
He
o, z
x y
Y z
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mg/m?

|
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(b)

C= Z{ZZCW(L ik £G4k +C. (k) f (k)}

C ppm mg/m?
Cw(i, j, k) i j k
ppm mg/m?
f, 1),k i j k
C.(k) ppm mg/m?
f.(k)
10.1.2-1 PasquilI-Gifford
oy 10.1.2-2
10.1.2-1 Pasquill-Gifford o o
o, Y, < o, /.
0 1,000 |0.901 0.4% 0 300 | 1.122 0.0800
1000 0 851 0602 A 300 500 | 1.514 0.00855
’ ) ) 500 2.109 0.000212
0 1,000 | 0.914 0.282 B 0 500 | 0.964 0.1272
1,000 0.865 0.396 500 1.094 0.0570
0 1,000 |0.924 0.1772
1,000 0.885 0.232 ¢ 0 0.918 0.1068
0 1,000 | 0.929 0.1107 0 1,000 | 0.826 0.1046
1000 0.889 0. 1467 D 1,000 10,000 | 0.632 0.400
’ ) ) 10,000 0.555 0.811
0 1,000 | 0.921 0.0864 0 1,000 }0.788 0.0928
1000 0.897 0.1019 E 1,000 10,000 | 0.565 0.433
’ ) ) 10,000 0.415 1.732
0 1,000 | 0.929 0.0554 0 1,000 | 0.784 0.0621
1000 0.889 0.0733 F 1,000 10,000 | 0.526 0.370
’ ) ) 10,000 0.323 2.41
0 1,000 |0.794 0.0373
0 1,000 |0.921 0.0380 s 1,000 2,000 | 0.637 0.1105
1,000 0.896 0.0452 2,000 10,000 | 0.431 0.529
10,000 0.222 3.62
12 12
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10.1.2-2

0.5m/s 0.9m/s 0.4m/s
a Y a A\
A 0.748 1.569 A 0.948 1.569
A B 0.659 0.862 A B 0.859 0.862
B 0.581 0.474 B 0.781 0.474
B C 0.502 0.314 B C 0.702 0.314
C 0.435 0.208 C 0.635 0.208
cC D 0.342 0.153 cC D 0.542 0.153
D 0.270 0.113 D 0.470 0.113
E 0.239 0.067 E 0.439 0.067
F 0.239 0.048 F 0.439 0.048
G 0.239 0.029 G 0.439 0.029
12 12
®
1.5
©)
13
®)
a)
@
13
10.1.2-3
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10.1.2-3

kil /
( 0.7n1%) 104 160
(0.7m%) 104 1,820
(0.45r°) 60 940
13 (0.25°) 41 300
(25t) 193 480
(16t) 100 480
(30t) 165 220
4,400
(b)
10.1.2-2
2.0
©
10.1.2-4
19 ()
PM
PM
10.1.2-5
18 13
Q. =(P.xE,)xBr/b
Q i g/h
P i K
E, /1.2 g/ki h
Br 150-C1 g/kW h
b i g/kW h
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10.1.2-2

® HHR (BRBRHEEEUVEMERSFOEM)

+E Hh 0 100 200 900 1000m

[
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10.1.2-4

Br/b £,(9/KI ) .o/
P (KW) NOX PM NOX PM
( 0.7m%) 104 0.52 5.4 0.22 290.5 11.8
(0.7m%) 104 0.52 5.4 0.22 290.5 11.8
(0.45m%) 60 0.52 5.4 0.22 167.6 6.8
(0.25m%) 41 0.51 5.3 0.27 110.5 5.6
(251) 193 0.31 5.3 0.15 318.2 9.0
(16t) 100 0.52 5.4 0.22 279.3 11.4
(30t) 165 0.13 14.0 0.41 296.6 8.7
2007 19 )
10.1.2-5
CON QY w oy | @
( 0.7m%) 104 160 9 219 17
0.7 104 1,820 9 2,489 194
(0.45m%) 60 940 9 742 58
(0.25m%) 41 300 9 156 15
(25t) 193 480 9 719 39
(16t) 100 480 9 631 49
(30t) 165 220 9 307 17
4,400 5,262 389
b)
€Y
10.1.2-6
10.1.2-6
/
13 1,200 29,040 30,240 3,180
(b)
10km/
17 22
19
10.1.2-7
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22

10.1.2-7
g/
NOX PM
10 / 0.0901 3.3802 0.0018 0.0494
17 22
19
(©)
10.1.2-2
1.0
(d)
2007 19
)
Q =V xixixi(N xE.)
Y3600 1000 St
Q, ml/m s mg/m s
E, g/km
N, /h
V ml/g mg/g
20 523ml/g
1000mg/g
c)
22
10.1.1-24
(@ ¢ 10.1.2-8
U=U,(Z/Z,)
U z m/s
U, Z m/s
A 10.1.2-8
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10.1.2-8

F.G

0.1

0.15

0.20

0.25

0.25

0.30

d)

12 12

No,]=[N0 ], {1- -

[NO-]
[NOX],

(o ¢

B

[0s]sc

12 12

{esp(-Kt) + B}}

s-l

m/s

159

ppm

ppm
[NO]J/[NOX] o 0.83

o 0.3
0.0062 u

ppm

0.036ppm

0.0

0.037ppm
0.019ppm

22




e)

10.1.2-9
18 22 22
10.1.2-9
0.014ppm 9
0.030 /m?
(©)
10.1.2-10
10.1.2-3(1) (@
0.00027ppm
0.01427ppm
1.9
0.00011mg/m?
0.03011ppm
0.4
10.1.2-10
=+ = / *100
0.014 0.00027 0.01427 1.9
ppm
(
) I 0.030 0.00011 0.03011 0.4
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0-00006
7000008900010 o

0.00010

3 ——10.00008
000006

“=0.00002

B10.1.2-3(1) RERMOBESICHES —BEER (TIRE) O
FRIER (FF31E)

— FRER (BEfL: ppm)
w BRAEHEEHBRM A (0.00027 ppm) o

D S 0 100 200 500
| | | |
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0. 000060

— 5= 02000020

0000040,

0..000040- "
0.000020

10.1.2-3(2) EEBEOBRBICH S FEAFRKYE (HNERE) O
FRER (FFi51E)

—  EREH (B mg/m’) .
* RAEMEEHIBHA (0.000110 mg/m*) 0

]

0 100 200 500 1000m

Elil_l
=
=
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2)
€y

@
2)
10.1.2-4

NOx
Y
o| [ ]
b NO,
\ A
] -
| .
\
( )

10.1.2-4
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b)

2007 19 (
1.0m/s
1.0m/s
@)
1.0m/s
Q y’ (z+H) (z—H)
C(x,y,z)= exp| — expy — +exps —
(%.%,2) 2T u o © P 26 P 26’ P 20’
1.0m/s
1
1-exp ) 1-exp| ——
C(X,y,Z): 3Q 0 + 0
( T[)A a’ Y 2\ 2m
2 2 2
1::}7 X +;y +_(z f{)
2 o Y
1 x’+y> (z+H)
2 az yz
x.,y,2) (x,y,2) ppm mg/m®
X
X
Q ml/s mg/s
u m/s
H
o ,0 y Z
o,y o 0.3
v 0.18 17 -19 v 0.09 :19-7
0 t =V
* 2a
W
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24

Ca=

Ca, =

(b)

o, W2 0.46L%%

O,

®

24
> Ca,
— t=1

24

s=1

Ca
Ca

t

Rw
Rc
fw

ts

fc

t

t

dn

1.5 0.31L%%

ppm

[ 3 {(Rws /uwts)x ths}+ Rc,, x fct}x Q,

mg/m?
ppm mg/m?
m-l
s/m?
m/s
ml/m s mg/m s
16 t dn
L=x—W?2
o, = W2 o, =1.5
10.1.2-5
1.5
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©)

21
21
®)
a)
21 10.1.2-11
10.1.2-11
/
6,422 4 6,426
531 98 629
6,953 102 7,055
4,058 4 4,062
573 96 669
4,631 100 4,731
21 12 7:00 12 7:00 )
b)
40km/
17 22
19 3
10.1.2-12
10.1.2-12 22
g/ h
NOx PM
0 / 0.0652 2.6046 0.0016 0.00326
17 22

19
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©)

i) b)
d)
10.1.2-6
e)
2007 19 ()
1.0
20 180 10
400
1)}
22
9.0
1.0
1/5
U Uy(H Hy)"

U H m/s

Uy Hy m/s

P 1/5
9)

2007
9 ()
[NO,] 0.0683[NOX]***(1 [NOX]ee/ INOX],)**"

[NOx] (ppm)

[NO,] (ppm)

[NOX] e (ppm)

[NOx]+ (ppm)
h)

D
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15

25 0.6 258 3.0 0.3
|
9.2 !
15
Il.o
| | . |
I | L
27 0.6 2.9 3.2 0.4
|
1
958
[ J
(@)
10.1.2-6
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(©)

10.1.2-13(1) (2)

0.00018ppm 0.00017ppm
0.01580ppm 0.01564ppm
1.1
0.00001mg/m*
0.03011mg/m? 0.03010mg/m?
0.03
10.1.2-13(1)
ppm
=+ o+ = / *100
0.014 0.00162 0.00018 0.01580 1.1
0.014 0.00147 0.00017 0.01564 1.1
10.1.2-13(2)
mg/m®
=+ o+ = / *100
0.030 0.00010 0.00001 0.03011 0.03
0.030 0.00009 0.00001 0.03010 0.03
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3)
€y

&)

a)

b)

10.1.2-7

A

\

A

10.1.2-7

2007
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19
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4 X o uluy, P x/x, ©

m2
X 1.5
t/km?/  / t/km?/m?/

t/km’/  / t/km?/m?/

u m/s

Uy m/s

/16

R, =N, NdJ.

-n/16

=N, N[ [Po (u/u)” (x/x,)*x dx do/A

-n/16

j:fca(x) x dx do/A

ds t/km?/
S 16
u
d /
Us m/s
Us m/s Us m/s
X1
10.1.2-8(1) (2)
X2
Xl ’ XZ Xl ’ XZ
10.1.2-8(1) (2)
A 2

3.5
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ws
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16
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®

10.1.2-9 A B
C))
®)
a)
@
10.1.2-14
10.1.2-14
N, 2
(o'} C /km*/8h
17,000 2.0
_ 0.04
2007 19 ()
()
A 10.1.2-15 10.1.2-9
10.1.2-15
A
43,573 ?
429,565 2
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b)

@
10.1.2-16
10.1.2-16
(o C
. ¥ 202 / 0.0120 2.0
2007 19 9 ()
(b)
10.1.2-9
3.5
c)
18 12 13
25
d)
21
9.0
10.0 1/5
U=U,(H/H,)
U 10 m/s
U, Ho m/s
H 10.0
H, 9.0
P 1/5
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(©)

10.1.2-17
1.63 1.69t/km%/

10.1.2-17
/Y
0.05 0.10 0.06 0.04
1.13 1.13 1.13 1.13
0.19 0.41 0.21 0.12
1.37 1.63 1.39 1.28
0.21 0.32 0.16 0.11
1.13 1.13 1.13 1.13
0.21 0.23 0.22 0.31
1.55 1.69 1.52 1.56
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2)
10.1.2-10

(NOx, SO,, SPM) (NOx, SPM)
\/
NOX
S0,,SPM NO,
NO,
\J
( 1 )

10.1.2-10

b)
@
D
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(b)

C 2J =
(X,Y,2) 5

C(x,y,2)
Q

u
He

©
D

G, =0 (t/t,)

(d)
He

He IJO

12
CONCAWE Briggs

0.4m/s

Q y’ (z—He)’
—— exp| - expy——————
T 6 o u Xp( 26’ P 26’

X,Y,Z ppm

ml/s mg/s

m/s

Pasquill-Gifford

60
Pasquill-Gifford
Pasquill-Gifford

0.2

AH

AH

CONCAWE

0.5m/s 0.9m/s
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AH

1.0m/s
Briggs
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CONCAWE 1.0m/s

AH=0.175 Q) u

Briggs 0.4m/s

AH=14 Q% (d0/dz)”*

AH
Q, cal/s
u m/s
do/dz 0.003 /m

Q,=p C Q AT

p
C 0.24cal/K/g
Q
AT Te
©)
1.5
®
®)
a)
@
10.1.2-11
(b)
365 24
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©

F s>
E kl/
S ha
kl/ha
13 15
30
ha
10.1.2-19
13 15
10.1.2-20
13 13
13
ha
S 10.1.2-21
ha 10.1.2-19
10.1.2-20
10.1.2-21
10.1.2-19 ha
m? lha
» C ha
/ m ( /ha)
= * = /
2,060 4,439 9,143,172 5,235 1,746
13 15
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10.1.2-20

kI | ¢ 1/ ) 1/ e )
= *1000000/ = *0.99 71000
42,914 4,693.6 4,646.6 8,114.9
kl 0.99kl
13 15
13 15
10.1.2-21
(kl/ha ) (ha) kl/ (ki/h)
= * = /(365%24)
8,114.9 4.56 37,003.9 4.224
8,114.9 4.05 32,865.3 3.752
8,114.9 3.41 27,671.8 3.159
8,114.9 2.53 20,530.7 2.344
8,114.9 22.72 184,370.5 21.047
365 24
13 15
13 15
(d)
m/h kI/h > (M /1)><1,000
mé/h
kg/10%kcal > k1/h
< kcal/l > 22.4/46
mé/h
kl/h = kg/l > > 22.4/32
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kg/h

kg/kl > kI/h
10.1.2-22
10.1.2-23
10.1.2-22
(kg/1) (kcal/I) m/D
0.84 9,390 11.4
12 12
10.1.2-23
1 (kg/10%kcal) 2( ) 3 kg/kl
23.48 0.5 1.146
1
2 JIS K 2205
3
12 12
(1999 8 )
10.1.2-24
10.1.2-24
(SPM)
(k1/h) (m/h) ) (m/h) (m/h) (kg/h)
4.224 48,156 218 4.535 12.419 4.841
3.752 42,770 218 4.028 11.030 4.300
3.159 36,011 218 3.391 9.287 3.620
2.344 26,718 218 2.516 6.890 2.686
21.047 239,934 218 22.597 61.878 24.120
15
)
10.1.2-12
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1.0

b)
@
10.1.2-25
10.1.2-25
/

)

672 49 721 360

597 44 641 350

502 37 539 550

373 27 400 450

2,991 220 3,211 1,480

5,135 377 5,512 3,190
(b)

10km/
1)
b)
©
10.1.2-12
1.0
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1) b)
c)
@
D
(b)
16 m/s
d)
D
e)
@
10.1.2-26
D
10.1.2-26
0.004ppm
0.014ppm 22
0.030 /m?
(b)
10.1.2-27
10.1.2-27
0.014ppm
0.051ppm L
0.096mg/m®
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(©)
a)

10.1.2-13(1) (3)

0.01422ppm
1.55

0.004019ppm
0.47

0.030021mg/m?

0.00022ppm

0.000019ppm

10.1.2-28

0.000021mg/m?

0.07
10.1.2-28
=+ = / *100

0.014 0.00022 0.01422 1.55%
ppm

0.004 0.000019 0.004019 0.47%
ppm
I 0.030 0.000021 0.030021 0.07%
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b)

10.1.2-29
10.1.2-14(1) (3)
0.0020ppm
0.0530ppm
0.00085ppm
0.01485ppm
0.00089mg/m*
0.09689mg/m*
10.1.2-29
-t m/s
ppm 0.051 0.0020 0.0530 NE 1
opr 0.014 | 0.00085 | 0.01485 NE 1
mg/m? 0.096 0.00089 0.09689 NE 1
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10.1.2-15
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NOX
SPM,NVMHC NO,
DTN
\
|
F——
\
( )
10.1.2-15
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2)
(©)
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©)

®)
a)
10.1.2-30
10.1.2-30
= +
6,422 2,568 8,990
531 189 720
6,953 2,757 9,710
4,058 2,567 6,625
573 188 761
4,631 2,755 7,386
( 21 12 7:00 12 2 7:00 )
b)
40km/ IC
60km/
17 22
19 3
10.1.2-31(1) (2)
10.1.2-31(1) 22
g/ h
NOx PM
40 / 0.0652 2.6046 0.0016 0.00326
60 / 0.0673 2.2480 0.0014 0.0365
17 22
19
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10.1.2-31(2) 22

g/km
HC
40 / 0.0238 0.1910
60 / 0.0222 0.1543
17 22
19
c)
4) b)
d)
2)
10.1.2-16
@) 1.0
15 I o
l 1l . l l , 1l
| 1 ' I I ' 1
55 0.5 3.25 3.25 2.0 3.25 3.25 0.5 55
l
|
270
[ _J
o
10.1.2-16
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e)

2)
P
2)
9)
D
h)
10.1.2-32
22
10.1.2-32
0.014ppm
0.030ppm 22
0.23ppmC
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(©)

10.1.2-33(1) (3)

0.00019 0.00052ppm

0.01477 0.01614ppm

1.3 3.2
0.00001 0.00003mg/m? 0.03006
0.03014mg/m?
0.1
0.00017 0.00048mg/m® 0.23056
0.23186mg/m*
0.1 0.2
10.1.2-33(1)
ppm
=+ 4 = / *100
0.014 0.00162 0.00052 0.01614 3.2
0.014 0.00058 0.00019 0.01477 1.3
10.1.2-33(2)
mg/m?
=+ o+ = / *100
0.030 0.00010 0.00003 0.03014 0.1
0.030 0.00004 0.00001 0.03006 0.1
10.1.2-33(3)
ppmC
=+ 4 = / *100
0.23 0.00139 0.00048 0.23186 0.2
0.23 0.00039 0.00017 0.23056 0.1
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10.1.3.

D
@
a)
b)
10.1.3-1
10.1.3-1
1 1 0.04ppm 0.06ppm
53 7 38
1 1 0.10mg/m? 1 0.20mg/m?
48 5 25
@
a)
10.1.3-2
10.1.3-2
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b)

10.1.3-1(1) (2)

0.05

18 22
0.08
g y = 1.4079x + 0.007
= R? = 0.8664
~ 0.06
3
0.04
0.02
0
0.00 0.01 0.02 0.03 0.04
ppm
10.1.3-1(1) 98
0.12
“=
>
= y = 2.0706x + 0.0062
R’ = 0.6888
0.09 |
S
0.06
0.03 |
0
0.00 0.01 0.02 0.03 0.04
mg/m3
10.1.3-1(2)
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10.1.3-3

98 0.027ppm
0.069mg/m?
10.1.3-3
0.01427 0.027 1.9 0.04 0.06ppm
ppm
3
mg/m® 0.03011 0.069 0.4 0.10mg/m

98
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2)

@
a)
b)
10.1.3-4
10.1.3-4
1 0.04ppm 0.06ppm
53 38
1 0.10mg/m? 0.20mg/m3
48 25
@
a)
10.1.3-5
10.1.3-5
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b)

98
D
10.1.3-6(1)
@) 98
0.029ppm 0.069mg/m*
10.1.3-6(1)
ppm
98 98
0.01580 0.029 1.1 0.04 0.06ppn
0.01564 0.029 1.1
10.1.3-6(2)
mg/m?
0.03011 0.069 0.03
0.10mg/m?
0.03010 0.069 0.03
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3)

@

a)

b)

10.1.3-7
10.1.3-7
10 /7 ¥
2007 19

@

a)

10.1.3-8
10.1.3-8
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b)
10.1.3-9
1.63 1.69t/km?/

10.1.3-9
/Y

0.05 0.10 0.06 0.04

A 1.13 1.13 1.13 1.13
0.19 0.41 0.21 0.12 0 7
1.37 1.63 1.39 1.28
0.21 0.32 0.16 0.11

5 1.13 1.13 1.13 1.13
0.21 0.23 0.22 0.31
1.55 1.69 1.52 1.56
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b)

10.1.3-10(1) (2)

10.1.3-10(1)
0.04ppm 0.06ppm
53 38
0.04ppm 0.1ppm
48 25
0.10mg/m? 0.20mg/m?
48 25
10.1.3-10(2)
0.1 0.2ppm
0.1ppm
48 25
0.20 /m
48 25
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a)
10.1.3-11
10.1.3-11
b)
@
10.1.3-2(1) (3)
( 18 22

210



0.08

- y = 1.7685x + 0.003
g R? = 0.9032
. 0.06 |
3
0.04
0.02
0
0.00 0.01 0.02 0.03 0.05
ppm
10.1.3-2(1) 98
0.015
y = 1.7378x + 0.0012
R? = 0.6024
0.012
=
g
0.009 .
- *
] * *
0.006 . s
* * *
* *
0.003 |
> *
0
0.00 0.00 0.00 0.00 0.00 0.01 0.01 0.01
ppm
10.1.3-2(2)
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IS
(=2}
£ y = 1.7361x + 0.0159
2 _
0.00 | R® = 0.624
&
0.06
0.03
0
0.00 0.01 0.02 0.03 0.04 0.05
mg/m3
10.1.3-2(3)
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10.1.3-12

98 0.028ppm
0.008ppm
0.068mg/m*
10.1.3-12
0.01422 0.028 1.55 0-040.06ppm
ppm
0.004019 0.008 0.47 0.04ppn
ppm
e 0.030021 0.068 0.07 0.10 /m?
98
(b)
10.1.3-13
0.0530ppm
0.01485ppm 0.09689mg/m*
10.1.3-13
0.0530 0.1 0.2
ppm ppm
opr 0.01485 0.1ppnm
3
P 0.09689 0.20mg/m
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c)

IC
10.1.3-14
10.1.3-15
98 0.032ppm
468 254
10.1.3-14
=+ 4 = / *100
0.014 0.00022 0.0024 0.01662 14.4
ppm
1.5m
10.1.3-15
98
0.01662 0.032 14.4 0.04 0.06ppm
ppm

214




5)

@
a)
b)
10.1.3-16
10.1.3-16
0.04ppm 0.06ppm
53 38
0.10mg/m? 0.20mg/m?
48 25
0.20ppmC 0.31ppmC
51
@
a)
10.1.3-17
10.1.3-17
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b)

98
10.1.3-3
18 22
1)
0.8
) y = 1.0335x + 0.0096
= R? = 0.9715
o
0.6 |
*
0.4
0.2 |
0
0.0 02 — - |
ppmc

10.1.3-3
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10.1.3-18(1) (3)

98 0.028 0.030ppm 0.068
0.069mg/m? 0.25ppmC
10.1.3-18(1)
ppm
%8 98
0.01614 0.030 3.2 0.04 0.06ppm
0.01477 0.028 1.3
10.1.3-18(2)
mg/m?
0.03014 0.069 0.1
0.10 /m?
0.03006 0.068 0.1
10.1.3-18(3)
ppmC
0.23186 0.25 0.2 0.20 0.31ppnC
0.23056 0.25 0.1
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©)

IC
10.1.3-19(1) (3)
0.00380
0.00483ppm 0.01857 0.02096ppm
0.00030
0.00031mg/m3 0.03035 0.03044mg/m3
0.00234
0.00292ppmC 0.23290 0.23479ppmC
10.1.3-19(1) ( ) BP
ppm
) )
BP BP
= 4+t =/ *100
0.014 0.00162 0.00052 0.00483 0.02096 23.0
0.014 0.00058 0.00019 0.00380 0.01857 20.5
10.1.3-19(2) ( ) BP
mg/m?
) )
BP BP
= 4+ + + = / *100
0.030 0.00010 0.00003 0.00031 0.03044 1.0
0.030 0.00004 0.00001 0.00030 0.03035 1.0
10.1.3-19(3) ( ) BP
ppmC
) )
BP BP
=+ o+ o+ = / *100
0.23 0.00139 0.00048 0.00292 0.23479 1.2
0.23 0.00039 0.00017 0.00234 0.23290 1.0
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10.1.3-20

@A G 98
0.033 0.037ppm 0.069mg/m*
0.25ppmC
10.1.3-20(1) ( ) BP
ppm
%8 98
0.02096 0.037 23.0 0.04 0.06ppm
0.01857 0.033 20.5
10.1.3-202) ( ) BP
mg/m?
0.03044 0.069 1.0
0.10 /m?
0.03035 0.069 1.0
10.1.3-203) ( ) BP
ppmC
0.23479 0.25 1.2 0.20 0.31ppmC
0.23290 0.25 1.0
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